$ AR AR $ A AR

gl 191 S2J00/E{S 9/t
A= ol Al RHESH
[0 EaE ARl

85 s s

SIS NaN

=] K &ofl 2713121 =3 I EER

sRY | g mEmE

AEC|R EHE7|

BB el aieic) BB mmin 2oy G e aie)

A2 B3O RIZHEAICH e BEIE= 2|6t =tz 1 2o}
l SORA

e =) SIS B+ AL HEHT Y7l =
= BHciHo|x| BhE7|

- - R B s s

Ljio] XjAlO 2 GPTs ¢E1 el Al HERHAY g2,
M DB AFESE 1, ot A O AR A=A EH
FrEl|E] M| AfEfSL |

G ek 2 | = B Q TIYELA Al AEL]

JIExsS e ] B sorrasazsy 2 W Make=grmas @
CRE =R AEE 35 3] S| EgiAtnls ]|
(73 29l Eo|Li) RH 7 57|

THZ a5 s B TR 6= g 0 FHY == g O E

B siririe i el

c[xfnp:}e 14&} AEEYAHA
% o

2% 2RXSs} AN SeY  uPXSs g MMM

AHECE SHTL ABELCIE DIERBIMH /SR
AECIE 0§37 2H0E BEHMEZEH)

_q; HEA Q A ag AEL

gy mase
L&A SRS Al
AlThe] Eibasat

Cursor - Python
olzclog

'801 BISFEEmA =7

ey jgasEsms



